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More Practice with Graphing

Solve each of the following systems by graphing. N g
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7. Corey and Rob are brothers and are Z A
going to race. Corey runs at a pace of 5 A
meters per second. Rob runs at a rate of 711
meters per second. Since Corey is slower
he is going to get a 6 meter head start.

How long will it take Rob to catchup to (g 7

Corey?
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a. Create an equation for each lq - / W)
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b. Graph)and solve the system. )
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8. Barbie and Ken are going bungee R
jumping. Barbie is bungee jumping with a BN d
cord that has rubber bands that each 49 4
stretch 8 cm and she is 22 cm long. Ken isyg A
bungee jumping with a cord that has f
rubber bands that each stretch 6 cm and 36 p’
he is 26 cm long. What number of rubber
bands would cause Barbie and Ken jump
the same distance? P Liskanc@| J 'L‘é.y
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Barbie: y= gx +2 T
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b. Graph and solve the system.
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9. Suppose you plan to start taking an aerobics class. Non-members pay $4 per class while
members pay a $10 fee plus an additional $2 per class.

a. Create a system of linear equations to model the situations. 7\
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b. Solve the system by graphing. & 2
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c. Distinguish what your solution means in the context of the proble Afan.
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10. Suppose you are testing two fertillzers on bamboo plants A and B, which are growing under
identical conditions. Plant A is 6 cm tall and growing at a rate of 4 cm/day. Plant Bis 10 cm
tall and growing at a rate of 2 cm/day.

a. Create a system of linear equations to model thT situations.
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c. Distinguish what your solution means in the co text of the problem?
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